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x = x(t), y = y(t) " # $� %�%� �� �&�%� �
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mHnHFH opqAqA r5s40t56 u v51 w

x = 24 sh(t)
√

t+ 1, y = 7cos(t)/(t2 − 1).

mHnHFH opqAx A yt2z4563 { 31 6313

x = 15 sin(t)
√

t+ 1, y = 8tet/2.

mHnHFH opqA| A } ~�3�z6 � � 0s1 0�

x = 12 tg(2t), y = 10tet/2.

mHnHFH opqA� A �0��3s~��04 � z402

x = 12 tg t, y = 5t(1 + t/2).

mHnHFH opqA� A y v3z63 y�s3�043

x = 24t ch(t), y = 10t cos(t).

mHnHFH opqA� A 7 ~2�0� 56 y�� z�7 313s560�

x = 14
√

t+ 1 cos(t/2), y = 24 tg t.

mHnHFH opqA� A

x = 24
√

t+ 1 cos(t/2), y = 9t cos(t).

mHnHFH opqA� A

x = 20t/(t2 + 1) cos(t), y = 42
√

t+ 1cos(t/2).

mHnHFH opqA� A

x = 10t(1 + t/2), y = 24 tg t.

mHnHFH opqAq� A

x = 8 sin(t)/(t2 − 1), y = 6t ch(t).

mHnHFH opqAqqA

x = 6t ch(t), y = 8 sh(t)
√

t+ 1.

mHnHFH opqAqx A

x = 10t ch(t), y = 24t cos(t).

mHnHFH opqAq| A

x = 12 tg t, y = 9cos(t)/(t2 − 1).

mHnHFH opqAq� A

x = 48
√

t+ 1 cos(t/2), y = 7tet/2.
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